7.0 - Trigonometry Review

In trigonometry problems, all vertices (corners or angles) of the triangle are labeled with
capital letters. The right angle is usually labeled C. Sides are usually labeled with lower
case letters. The side opposite to <A will be labeled a and so on.
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Whenever we do trigonometry problems on a right triangle, c // )
we focus on a target angle. The target angle can be any of P4 a
the two angles that are not the right angle. f,_/f
A b C

Once we have a target angle, we can name each side of the triangle. Let’s suppose A is
the target angle. Thenside giscalledthe O fPos I TE side because it is on
the other side of the triangle. Side cis always called the H+ PoTEAN VSE

because it is the longest side, and side b is called the ADTACENT side as it
is beside <A. If the target angle does not have an angle measurement on it, we represent
it with the greek letter theta, 6.
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Suppose B is the target angle in w«(,ur ’_,/
the triangle on the right. Label / a M\)‘Mmf
all appropriate parts. ,,/
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The three trigonometric ratios for right triangles are:
SINE COSINE TANGENT
Siif] = opposite G050l = adjacent band = om‘msite
hypotenuse hypotenuse adjacent
S O H C A H T 0] A
What is the point of the trigonometric ratios?
40 Prov(o(e, ?fo()of‘l‘“;()v\_a.g SJO(-Q -4 - {,.a{ﬂ_
COM?OV’ cons  of r.'ju— '“}vamj fes.
Example 1 —Solve each to the nearest hundredth.
a) cos 42° b) tan 67° =§ c) sin 6 =g d) cos 35° :%

0.4 x= [4.49 o=33.9s° r=9.9%



angles in
standard
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In order to solve a right triangle, you must find the measurement of all three sides and all
three angles.

Example 2 - Solve AABC to the nearest tenth. C A
——J 330 B
L k= 150"~ q0° - 33° :
- 6,15 <
7 . o ,_:‘:J
+am 33° - . Sia 33 ¢ A
o= (0.938 < = [2.85
Example 3 —Sketch & solve AABC to the nearest tenth where <C=90°, ¢ =95cm & b =44cm
A . \ a
\\ a¢ A , 99
"\ ( ' 2
" =3 .62—“H , =
W — ST A bz_\llc E -‘;é
N - © °o_g,°
O —— B = [§0°- b2 1%~ %0 a = f4.20 cm
* = qu_:? ' —_——

An angle that is drawn in standard position must have its vertex at the origin of the
Cartesian plane, and its initial arm must coincide with the positive x-axis.

To draw angles in standard position, we use an initial arm (always the positive x-axis)
and a terminal arm (the final position after a rotation). The angle is labeled 0 (theta).
The vertex of the angle must be at the origin (0, 0) of a Cartesian plane. Positive
angles are measured in a counterclockwise
direction. Here is an example:

Label the four quadrants of
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Example 4 — Draw each angle in standard position and identify the quadrant in which it
lies: a) 60° b) 100° c) 300°
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7.0 - Right Triangle Trigonometry Worksheet

Name:

1) Find the hypotenuse for each triangle, then find the three trig ratios as a fraction and decimal
(to the nearest thousandth) for each triangle. Then find the unknown angle for each (to the

neareit degree). L4t ss= {an ©= !gt =0.%
27485 =c? Ib+2s=c* : -5 - SJF -
a) L{ +2C =Lt b) Lf’ —cr Cos © W‘ _L{Tll 0178/
9=c* =i =
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2) Find x to the nearest tenth.
a) . b)
fun 2772 & Lan Yoo = 24
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3) Solve the following triangles to the nearest tenth,

{4 =587 = 3 (_J*:- a=g
a) <p= D2 - b) <g= L=
Zr=90 | C7\s 1§o-40-S% =99\ c=
Lp=357
- = C /3\
\\\ sidea®
1.\\\ b S‘IH\W:' & \
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¢=15 N 5¢ 6= 1S saS° = 12,19 b=8 \\
R =123 o\
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b= €b )/ |, 5 1€ ton 5% <h=32°
b - g {g <B;§gv

4) Sketch and solve APQR: <P =46°, <Q =90°, & g =23m

c=ay
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|go-40-46"
Lp=4y?
. o.. =
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p=tee | P7 =23 sl =23 ws 4o
{az=fo" | 4= & b=1b.5Em =187 T
= | r:

*In the text, do p.25¥ #1acegi, 2aceg

ban A= 3

(A: ﬁ,\"‘%‘; = 329
<{B=\gp-Fo-32= £&°
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